EHATS STU FACULTIES & AT &

sifdA 912, CGLUTe




SSC CGL 2023- HgT AqYT

7 is added to a certain number and the sum is multiplied by 5. The product is

then divided by 3 and 4 is subtracted from the quotient. If the result comes to

16, then what is the original number?

Uk T2 S § 7 Srgt ATaT § o ANt 6t 5 & o foRa St #1 fUR umwe
&1 3 9 e foram ST B o WTwer & 4 get foat strat 21 7fe aftone 16
ATAT & A1 et &t 1 82 (SSC CGL 2022)
A)3 ®B®1 (©O5 (D)4




=

SSC CGL 2023- HgT AqYT

A number when divided by 7 leaves remainder of 4. If the square of the same

number is divided by 7, then what is the remainder?

Teh HEAT i 7 | TAHTRNIA i W NIHA 4 Tl gl IiE SHT AT R TR 7 H
ferviRra R STTo, o STowet ST 22 (SSC CGL 2022)
A3 @1 (OX (D) 2




=

SSC CGL 2023- HgT AqYT

The price of a scooter increases successively by10%, 5% and 15%. What
is the total percentage increase approx. in price of scooter?
Tk TeheX Y hiTd shavT: 10%, 5% 3R 15% Tl g Thet hl hiud H el

AT feg, (TRTHIT ) AT 82 (SSC CGL 2022)
(A) 36 % B)33% (O)31%  (D)30%




=

SSC CGL 2023- HgT AqYT

The reduction of 20% in the price of rice enables a person to obtain 50 kg

more for Rs.450. Find the original price of rice per kg.

ATAA il hIHA H 20% HY HHT | Ueh STk 450 T H 50 Ferenama S1fres ure

T FAHAT g1 T FoheTl ATTA T HA Hed AT hi 1T (SSC CGL 2022)
(A)Rs.1 (B)Rs.2 (C)Rs.1.25 (D) Rs. 2.25




=

SSC CGL 2023- HgT AqYT

What is the ratio of the mean proportional between 1.6 and 3.6 and the third
proportional of 5 and 8?

1.6 31X 3.6 o WEATTUTAT AT 5 3T § & TATATTATAT ST STATA T 872

(SSC CGL 2022)
(A)2:15 B)5:16 (C)3:16 (D)4 :15




=

SSC CGL 2023- HgT AqYT

The average age of a man and his son is 55 years. The ratio of their agesis 7 : 4,
respectively. What will be the ratio of their ages after 6 years?

Teh JTEHT 37 IHk AL T STHA AT 55 AW §1 ITehT T T ATUTT SHAI: 7 : 4 B
6 Y TTG ITehT AT T STTATA FIAT FIIT? (SSC CGL 2022)
A)1:2 B)12:7 (C)25:17 (D) 38 :23




SSC CGL 2023- HgT AqYT

- In a right-angled triangle PQR, right-angled at Q, the length of the side PR is 17

units, length of the base QR is 8 units, and length of the side PQ is 15 units. If £
RPQ = A, then sinQ + cosq is:

TS GHEIT S PQR H, ST Q WX HHAIUT &, HSAT PR 6l T@ATS 17 THE &, ATIR
QR T TS 8 FHTS 7, 3T T PQ Y & 15 3HTE 21 afg Z RPQ = Ql, T sin0L
+ cosQl &: (SSC CGL 2022)

(A) 18/17 PR Y (C) 21/17 (D) 15/17




=

SSC CGL 2023- HgT AqYT

The side of an equilateral triangle is 12 cm. What is the radius of the circle
circumscribing this equilateral triangle?

Teh GHETE st it WSt 12 At 31 38 awarg Bre & ufera o & B s a2
(A)6V3cm (B)4V3cem (C)9V3cem (D) 5V3 cem (SSC CGL 2022)




=

SSC CGL 2023- HgT AqYT

If the angles of a triangle are (x — 46) degrees, (x + 96) degrees and 8x degrees,
then what is the value of 2x?

afe Teh Tt o hI0T (x — 46) T, (x + 96) Teaft oM 8x T3t &, at ax v ot
27 (SSC CGL 2021)

(A) 15 degrees (B) 24 degrees (C) 26 degrees (D) 13 degrees




=

SSC CGL 2023- HgT AqYT

O is the center of this circle. Tangent drawn from a point P, touches the circle
at Q. If PQ =24 cm and OQ = 10 cm, then what is the value of OP?

O 39 I W1 %3 2. foig P & ffeft 73 wust Y@ o« st Q ut wuvt st 21 afs PQ =
24 T 3T OQ = 10 YHT &, AT OP AT W AT 82 (SSC CGL 2022)

(A) 26 cm (B) 52 cm (C)13 cm (D) 15 cm




=

SSC CGL 2023- HgT AqYT

If Manoj cycles at 12 kmph instead of 10 kmph, he would have cycled 15 km

more. What is the actual distance cycled by him?

Tt gt 10 et ufe s hr s=mer 12 foret i g <y wrfer & wreferer Trermar, @t

o€ 15 TehtiT 3Tfereh ATSTeheT TICTTAT| 3Heh ST ATSTeheT © T <hi TS S (oreh ST &I
27 (SSC CGL 2021)

(A)105km  (B) 150 km (C) 75 km (D) 120 km

45




@ SSC CGL 2023- #gT AU

A truck covers three equal distances of 100 km at the speed of 200 km/hr, 300

km/hr and 600 km/hr. Find the average speed of the truck for the whole journey.
Teh 2ok 200 TeRti/eieT, 300 foRTl/eeT 3T 600 ToRHT/EeT AT i & 100 TRt AT @

U T T AT 2| G AT ok SR geh <hl STEA T A1 hITTl (SSC CGL 2022)

(A)300 km/h (B)327km/h  (C) 366.66 km/h (D) 250 km/h




j SSC CGL 2023- HgT AqYT

A man walked at a speed of 6 km/h from point A to B, and came back from

point B to A at a speed of 10 km/h. Find the ratio of the time taken by the man in

walking from A to B to that from B to A.
Teh sdivh (s A © B ek 6 TeRHI/sieT <ht TTTd & =IeT, TR feig B & A @k 10 TeRHi/eeT

T I & AU ATAT| ST i*h GHT A U B Tk el W (o0 770 THT AR B H A <k

A | ToT0 7T T0T T STTUATT AT hI<T0) (SSC CGL 2022)
(A)4:3 (B)5: 4 (C)5:3 (D) 5: 2

¢




&  SSCCOL 20237 AU
~ The area of a circle is increased by 22 cm? when its radius is increased by 1 em

The original radius of the circle is -

afy forelt <t Brsam =t 1 o, Jgman STe A SEeRT e 22 A g ST B
I shl ATEAtaeh AT JTd 2 (SSC CGL 2022)

(A) 6 cm B)3ecm  (C)3.2cm (D) 3.5 cm




j SSC CGL 2023- HgT AqYT

=

e A and B can do a piece of work in 6 days and 8 days respectively. If they are
working alternatively then in how many days total work be completed if B

starts the work first?

A 3R B ToRET T T SHATT: 6 3R § & H UXT Y Tehd Bl I8 1A W Tehial vl §
STt At e fomery Rt i o B af B 3 e e fera @

(SSC CGL 2021)
(A) 7days (B) 6 days (C) 5§ days (D) 7.5 days

16




@A SSC CGL 2023- #gT AWY

n article is marked up 40% higher than cp, but it was sold on X %

discount. The shopkeeper thus gains 12%. What should be value of X ?
TSk €] T HT Hed hl Tl § 40% 31tarek Tarfga foram man 3, @feh T 380 X % 9e

O ST AT AT| TSR hl 38 TR 12% T BT 21 X 3 TATT U AT AT =i 2
A) 10 (B) 14.4 (C) 20 (D) 15
(SSC CGL 2021)

45




@ SSC CGL 2023- #gT #g«T
- Find the number of diagonal in the hexagonal ?

yeeh Uiy # farerutt <61 Tea e fifkre?
INK B) 12 C)5 D)15
(SSC CGL 2020)

0:45




=

SSC CGL 2023- HgT AqYT

If the selling price of an article is 25% of its cost price, then what will be the
loss percentage?

afe forelt aeq o fosna Hoa 3ok 36T 0ol T 25% , A g1 Tfasrd st gem?
A) 75% B) 50% C) 60% D) 25%  (SSC CGL 2021)




@ SSC CGL 2023- #gr AUY

— How many numbers are there between 200 and 400 that are divisible by both 6

and 5?
200 AT 400 ok sr TE feRa=T SaT0 g AT 6 3TR 5 AT 9 fer=r 82
A)8 (B) 6 (C)7 ME (SSC CGL 2022)

0:45




=

SSC CGL 2023- HgT AqYT

A train can cross a 1200 meter long bridge completely in 16 seconds. It can

cross a 1600 meters long bridge completely in 20 seconds. What is the speed of

the train?

T ¢ 1200 HieX & T ol 16 Tehs H O Y8 W UR T Wehell 51 T 1600 HieX
TS U ohT 20 Hehe H U Y8 & U T Thdl g ¢ <hl T T 2

(A)360 km/h  (B)400 km/h  (C)450 km/h (D) 270 km/h
(SSC CGL 2021)




SSC CGL 2023- HgT AqYT

_' A lady sold an article for Rs 960 at some profit. Had she sold it for Rs 800,
then there would have been a loss equal to 1/3 of the initial profit. What was
the profit percentage of the article? (SSC CGL 2021)
T WIREAT o Ueh S T 960 U H 5T AT W =Tl A 36 39 800 T | =0
AT, AT SARTR T 6 1/3 o SIS BT BYdT| & T ATH Tora o or?

150 100
7 7

(=

%o

50 10
(A) —% B) = % ©— % 0

A lady sold an article for Rs 960 at some profit, Had she sold it for Rs 800,
then there would have been a loss equal to 13 of the initial profit, What was
the profit percentage of the article? (SSC CGL 2021)

T T O 960 W T R 2 R 9 800 R R e
R, T T 1 35 T T ) T A S 1

150 50 10 100
W% ®T% OF% 0%




=

SSC CGL 2023- HgT AqYT

Two circles touch each other externally at P. AB is a direct common tangent to

the two circles, A and B are points of contact, and Z PAB = 40° . The measure

of £ ABP is
T I P W Ueh O T STEN U 8 T 6 81 AB ST ot <t €ieft swarfg

TYRET? , A 3R B @uh fag ¥, 3R £ PAB =40° 31 L ABP &I AT &
(A) 45° (B) 55° (C) 50° (D) 40° (SSC CGL 2022)




SSC CGL 2023- #gT AU

From the following figure find x +y + z.

FeteTRaa ereRta | x + y + z AT@ iUl (SSC CGL 2022)
(A) 120° (B) 130" (C) 110° (D) 115°




@ SSC CGL 2023- #gT AU

— A chord of length 42 cm is drawn in a circle having diameter 58 cm. What is
the minimum distance of other parallel chord of length 40 ¢cm in the same
circle from 42 cm long chord? (SSC CGL 2022)

58 THT SATH AT Teh I | 42 HT SIaTg <hl Ueh A& Gl 7T 81 42 HHT Tl
e & St I § 40 AT TETE R AT THMHIAR FET hl =7 I FT 8?2
(A)4 cm (B)1 cm (C)3cm (D)2 cm




SSC CGL 2023- HgT AqYT

In the given figure, a circle is inscribed in APQR, such that it touches the sides
PQ, QR and RP at points D, E, F respectively. If the lengths of the sides PQ =
15 cm, QR =11 cm and RP =13 c¢m, then find the length of PD.

feu g o /1, APQR ® U 91 30 WehR 3ifehd g ok a8 ¥STeTi PQ, QR 3R RP
<! ShUTT: Tsig D, E, F U% T991 ST ) Ale WSS shl 13 PQ = 15 A, QR =
11 THT 3T RP = 13 UHT g, AT PD <hl &S AT il (SSC CGL 2022)
(A)9em (B)8ecm (C) 7.5 ecm (D) 8.5 cm

67354 ﬁ




SSC CGL 2023- HgT AqYT

— In triangle PQR, right angled at Q, if cot P = V3 , then the value of sin P is:
< PQR #, Q W THERIUT &, TfE cot P = /3, Y Sin P T AT £:
(SSC CGL 2022)

1 1
W1 B ©; ©V3




@ SSC CGL 2023- #gr AUY

*  The area of a sector of a circle is 66 cm” and the angle of the sector is 60°. Find

the radius of the circle.
TS I o Ueh BTG T 6T 66 9H1 § 3R FISais &1 hivT 60° g1 99 i
ESRIRIGEIS LY (SSC CGL 2022)

(A) 5V15cm (B) 614 cm
(C) 7V19cm (D)3V14cm




=

SSC CGL 2023- HgT AqYT

What is the edge of a cube whose volume is equal to the sum of the volumes of
the cubes of edge 6 cm, 8 cm and 10 cm?

39 9 T TR o 2 RrerenT stea 6 9T, 8 9T 3R 10 T fof R o1t w1t o6
AT h TNT o SR 22 (SSC CGL 2022)z

(A)5cm )RE ] (C) 6 cm (D) 12 cm




@ SSC CGL 2023- #gT AU
— A hollow sphere has an outer radius of 4 cm and inner radius of 1 cm. What is

-

the volume of this hollow sphere?

Ueh WA et shl aTedt FBeam 4 AT TR ariaies B 1 99t 81 39 T Mo

T AT TehaaT 22 (SSC CGL 2022)
(A) 84T cm’ (B) 68T cm? (C) 48T cm’ (D) 9277 cm’




=

SSC CGL 2023- HgT AqYT

If the length of certain rectangle is decreased by 4 cm and breadth is increased

by 2 cm, it would result in a square of the same area. What is the perimeter of

the original rectangle?

afe foRelt oTmare Y TS 4 Tt 7 Y & ST SR eTs 2 U 9T &1 91g, av

TTRUTTH G QST T Teh ST SITT| {eT AT T UIATT T &2
(SSC CGL 2022)

(A) 15 cm (B) 24 cm (C)20 cm (D) 10 cm




@ SSC CGL 2023- #gr AUY

- Ifa+b=12 and ab = 35, then what is the value of (a* + b*) ?
gfE a +b =12 3R ab =35 %, a7 (a* + b*) T A FT 22 (SSC CGL 2022)
(A) 3151 (B)3261 (C)3026 (D) 3020




@ SSC CGL 2023- HgT AqYT
- Jfa+b+c=6,a>+b*+c*=14 and ab + bc + ca =11, then what is the value of

a’>+ b?+ ¢* - 3abc?
'Qﬁa+b+c=6,a2+b2+c2=143ﬁ'{ab+bc+ca=11%,?ﬁa3+b3+c3—3abc
T HT T 3?2 (SSC CGL 2022)

(A) 31 (B) 12 (C) 18 (D) 42




SSC CGL 2023- HgT AqYT

i | 1
If X+ i 2, then the value of X + 57 ?

1 1
aﬁx+}=z,a‘raﬁX57+ﬁ=? (SSC CGL 2022)

a1t ®B-2 ©0 (D2

—_—




@ SSC CGL 2023- #gr AUY

—_—

If cot x — tan x = 3/2, then what will be the value of cot x + tan x?
Ife cot x — tan x = 3/2 &, AT cot x + tan x T HIF AT BT? (SSC CGL 2022)
(A)3 (B) 2 (C) 5/2 (D) 7/2




( j SSC CGL 2023- HgTl AUY

straight vertical pole was broken during a cyclone in such a way that its top
touched the ground at a distance of 6 v/3 m from the bottom of the pole and made
an angle of 30° with the horizontal. What is the height (in m) of the pole?
Teh ThaTd o SR Ueh HILT HEATeR THT 39 ThR g 14T foh 30T 319 ©w & =
| 6v/3 WU T T W STHT Y P TAT S SATIST 36 AT 30° HT HI0T ST T4 TE
et Serrg (Fite ) fomart 32
(A)18 (B)12+3 (©)12 (D)18+V3 (SSC CGL 2021)




( j SSC CGL 2023- HgTl AUY

= The compound interest on a certain sum of money at 10% p.a. for 2 years is

Rs.5250 (interest compounded yearly). The total amount received (in Rs.) after 2

years is:

T TAtara aivt w wshatg sart 10% fa aw 2 aret & T7T 5250 Tu (e

ThATE SATT) 1 2 THT o TS UTH el AT (T H) -
(A) 30250 (B) 28350 (C) 25380 (D) 24005 (SSC CGL 2021)




=)

SSC CGL 2023- HgT AqYT

A man had 16,000, part of which he lent at 4% and the rest at 5% per annum
simple interest. If the total interest received was 700 in one year, the money
lent at 4% per annum was

U 3TTEHT & 919 16,000 T 25T o1 ™ 369 4% WX 3 9w 5% ufq a9
HTURUT SATH T IUR T34T AfS et SATST UTH AT Tehs 1T | 700 AT, 4% Tid W
TR IYT & AT LT F1a i -

(A) 12,000 (B) 8,000 (C) 10,000 (D) 6,000 (SSC CGL 2021)




@ SSC CGL 2023- #gr AUY

- 16 men finished one-third work in 6 days. The number of additional men are
required to complete the job in next 6 days.
16 959t 7 6 TaT o we Tagrs oo aun feram) oTet 6 faAt & worel st ot & o fo1g
Afarfies TEeT hi deaT hi STavaehar gl (SSC CGL 2021)
(A) 10 (B) 8 (O) 16 Ry




=

SSC CGL 2023- HgT AqYT

Two pipes A and B can fill a cistern in 12 hours and 20 hours, respectively. The

pipes were opened simultaneously, in how much time ( in hours) will the tank

full of 70% of the cistern?

3T UTST A 3T B Ueh ¢ehl i shIT: 12 ©¢ 3T 20 © H ¥R Thd 21 UTSUT i Ueh
Ty @i fean wa, fohay a9 § (52t /) eht 70% WX ATT?  (SSC CGL 2020)
(A) 3.5 (B) 4 (©)3 D)5

40




=

SSC CGL 2023- HgT AqYT

The average weight of 12 persons increases by 3.5 kg when a new person comes
in place of one of them weighing 58 kg. The weight of the new person is:

12 SR T Ed I 3.5 fReT I ¢ ATaT & 9« 390 ¥ 58 foheam™ s
T ST o TATT U Ueh AT ST T<R 31T STAT 81 U STk T a1 8:

A)100kg (B)16kg (C)70kg (D)42kg
SSC CGL 2022




¢

j SSC CGL 2023- HgT AqYT

, B 3TR C A SHATT: Rs 10,000, Rs 15,000 3R Rs 20,000 T 39T FRITI Tk I 6
1S A 3T B § 8 Tedeh A 5,000 TUF AR a9t feru, stafer C 7 10,000 9 Hawtel
A & o 11 TN A1G A, B 3T C o TTH T TS T ER? (SSC CGL 2021)
A, B and C invested Rs 10,000, Rs 15,000 and Rs 20,000 respectively. After one
year each of A and B invested Rs 5,000 more, while C withdrew Rs 10,000. What
will be the ratio of profit of A, B and C after three years from starting?
A)8:11:8 @B)2:2:4 ((O)2:3:4 (D)8:8:11




@ SSC CGL 2023- #gr AUY

= A boat goes 30 km upstream in 3 hours and downstream in 1 hours. How much

time (in hours) will this boat take to cover 60 km in still water?

Teh A1a o ok forodfiar 30 fereft oY St 3 e 7 SR o <Y faom o 1w o e ot
B 9T T § 60 Terwt Y gt 7 o H 38 A1 i e W (are #) e
(SSC CGL 2021)

A)S  (B)6 ©3 D2

45




@ SSC CGL 2023- /gl #Tg=
=" Two numbers are in the ratio of 5: 7. The product of their LCM and HCF is

12635. then the sum of the numbers will be.
ST HEATY 5:7 % ATUTA H &l 37 LCM FR HCF T TUHEE 12635 81 @

TEITSA T TRT A (SSC CGL 2021)
(A) 228 (B) 252 (C) 304 RE




SSC CGL 2023- #HgT ﬂma

Calculate the mean from the following table.

=T arferent & |TeT <t TToTET W

(b) 33.4
(d) 34.2




&\  SSC CGL 2023- HgT #ATUA

appeared candidates and passed candidates (in hundreds) in a test from six

different institutions.
T2 T I T 3TETE WY SR AATCTRAT T9T T 3T | B8 ACTT-3TENT HEATAT
O Teh TelT H SURyd SFieart 3T STuT STHIEarRT <hi 3T (Hhel W)

B AppearedLancdates Passes Candicates

40
ag 34
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-y
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\5 ."‘. :0
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15 12
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A SSC CGL 2023- HgT AqY=T

|

PP Find the ratio of number of passed candidates from all the institutions together to the

total appeared candidates from all the institutions together .

mﬁmarm”iﬁﬁﬁﬁmﬁaaﬁsﬁﬁwwmﬁmaﬁﬁwmm

A)11:7 B)7:9 (C)9:7 (D)7:8 =G




SSC CGL 2023- #gT AU

The number of candidates who passed from institutions C and D together is

approximately what percentage (rounded off to the nearest integer) of the total number of

candidates who appeared from institutions B and E together?

TEATT C 3TR D § Teh AT IATUT I TTA IFHISTRT oh[ HEAT, TEATT B 3T E T Teh AT
IUTEAA T ATCT STHIGART chl et HEAT ST TS fehaAT Aot (Feheaw Jutieh aeh
qutfeRd) 22
(A) 100% (B) 77% (C) 95% (D) 90%

B Appeared Candidates Passes Candicates

gates {In han L

-
e

L
”
-
b

O

Num Der
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